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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 are of 1 mark each.

Which of the following rational numbers have a terminating decimal expansion ?

125 77

(A I B 550

15 129
1600 (D) 5275 52 « 72

(©

In AABC, if AB= 63 cm, AC=12 cm and BC=6 cm, then angle B is equal to :

(A) 120° (B) 90° (C) 45° (D) 60°

. 1 .
The maximum value of is :

cosect

B
2

(A) 0 (B) -1 (D)

Which of the following pairs of equations represent inconsistent system ?
(A) 3x—2y=8 (B) 3x—y=-8 (C) Ix—y=m (D) 5x—y=10

2x+3y=1 3x—y=24 x+my=I 10x — 2y =20

3
If tanA = 1 and A +B=90° then the value of cot B is equal to :

3
© 3

4 1
(A) 3 B) 5
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The lower limit of the modal class of the following data is :

C.L 10-15 | 15-20 | 20-25 | 25-30
Frequency 15 6 10 14

(A) 25 (B) 15 (C) 10

The value of x in the factor tree is :

(A) 30 (C) 100

If x.tan45°.cot60° = sin30°.cosec60°, then the value of x is :

A) 1 ® - © =

If « and B are the zeroes of the polynomial 4x2+3x+7, then 1 + é is equal to :
(0%

7 3
(A) 3 © -

A vertical stick 30 m long casts a shadow 15 m long on the ground. At the same time,
a tower casts a shadow 75 m long on the ground. The height of the tower is :

(A) 150 m (B) 100 m (C) 25m (D) 200 m
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SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11. Explain why 11X 13X 15X17+17 is a Composite Number.
Check whether x2+3x+1 is a factor of 3x*+5x3—7x2+2x +2

Solve for x and y

X

X

The wickets taken by a bowler in 10 cricket matches are as follows :

2 6 4 5 0 2 1 3 2 3
Find the mode of the data.

If A, B and C are interior angles of a triangle ABC, then show that

e
smt > J=cos

A
In AABC, right angled at B, AB=5 cm and ACB =30°. Find BC and AC.
OR

If sind + sin20 = 1, then find the value of cos20 + cos*.

Prove that the area of the equilateral triangle described on the side of a square is half
the area of the equilateral triangle described on its diagonal.
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18. Find mode of the following data :

C.L 20-40 | 40-60
Frequency 8 12

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19. Use Euclid division lemma to show that cube of any positive integer is either of the
form 9m, 9Im+1, or 9m+8.

If the zeroes of the polynomial x3—3x2+x+1 are a—b, a and a+Db, find a and b.

P and Q are points on sides AB and AC respectively of AABC. If AP=3 cm, PB=6 cm,
AQ=5 cm and QC=10 cm, show that BC=3PQ.

In AABC, AD 1 BC such that AD?=BD.CD. Prove that AABC is right angled at A.
OR

Two right triangles ABC and DBC are drawn on the same hypotenuse BC and on
the same side of BC. If AC and BD intersect at P, prove that :

AP XPC=BP xDP

If sinf + cos® =p and sech + cosecd =q, show that q(p?—1)=2p
OR

If sind + cos® = +/2 sin (90 — 0), then find the value of tané.

Evaluate :

sin39°

o

+ 2tan11°tan31°tan45°tan59°tan79° — 3(sin” 21° + sin” 69°)

COs

Prove that 3+5+/2 is irrational.
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Find the median of the following data :

C.L 1-4
Frequency 6

4-7
30

7-10
40

Father’s age is 3 times the sum of ages of his two children. After 5 years his age will be
twice the sum of ages of two children. Find the age of father.

OR

Places A and B are 100 km apart on a highway. One car starts from A and another
from B at the same time. If the cars travel in the same direction at different speeds, they
meet in 5 hours. If they travel towards each other they meet in 1 hour. What are the
speeds of the two cars ?

Draw the more than ogive for the following frequency distribution :

Class Interval

150 - 155

155 - 160

160 - 165

165 -170

170 -175

175 -180

10

22

34

16

12

Frequency 6

SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29. Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the

squares of other two sides.
OR

Prove that the ratio of the areas of two similar triangles is equal to the square of the
ratio of their corresponding sides.

p?-1
p2+1

If sec +tanf =p, show that = sin0 .

Solve graphically ; x—y=1, 2x+y=8. Shade the region bounded by these lines and
y-axis. Also find its area.
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The mean of the following data is 50. Find the missing frequencies f; and f,.

C.L 0-20 [20-40|40-60 |60-80 |80-100| Total
Frequency 17 f1 32 fa 19 120

If two zeroes of the polynomial p (x)=x*—6x3—26x2+138x— 35 are 2 +/3, find the
other zeroes.

If tan® + sin®@ = m and

tand — sin® = n show that

m2—n?= 4J/mn.
OR

1
If secO=x+ P then prove that tan6 +secf =2x or 1.
x

2x
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Lugs-A
U9 WEAT 1 | 10 9k TSk U9 1 3{h HT T

HH H 9fH e gid <o § § 2

125 77

(A 1 B 550

15 129

© g0 (D) 520522

AABC ¥, afg AB= 63 9.1, AC=12 4. Ht. 9N BC=6 Q.1., I B &1 HF &I :

(A) 120° (B) 90° (C) 45° (D) 60°

1
cosecO

1 H9H HH B :

(A) 0 B) -1

frefafea s gdieon 3 § 9 91 o676 § 2
(A) 3x—2y=8 (B) 3x—y=-8 (C) Ix—y=m 5x—y=10

2x+3y=1 3x—y=24 x+my=I 10x — 2y =20

3
WﬁitanA=Z AT A + B=90° a9 cot B &1 | B :

4
A 3 ® (©)
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6.

7.

=1 sl B miferet et 1 et Sfmn g

A F=IA 10-15 | 15-20
IRIRAT 15 6

(A) 25 (B) 15

1= TUrEE 98 § x %1 AH 86T

(A) 30 (B) (C) 100

Jfe x.tand5°. cot60° = sin30°. cosec 60° T x T T BT :

1
A) 1 ® - © =

aﬁa,sagqa4x2+3x+7ésw%aﬁl+%aw@m:

o

7 3
&) 3 © -

e SeAleR 30 W, T < 1 ST Rae 15 WX Tedt &1 SHl GHF Tk HHR 1 31 75
X Tl $RIad B gSdl § 1 HAR &1 91 8rl ¢

(A) 150 . (B) 100 . (C) 25l (D) 200 .
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Qug-d

Y99 AT 11 W 18 9% Tldh W9 2 3{dh &l T

11. TR FHIWC fF 11 x13x 15X 17+ 17 T 959 GE& |
12. 59 FINT fF 22+ 3x+1, 324+ 523 — 762+ 2x + 2 1 PHAGE T
13. x Ay % A & fd 7 AL

%+5y=7

3
S 44y =5
Ctay

T Tigarst g1 10 forehe B9 # fod T fafee sq R © -
2 6 4 5 0 2 1 3 2 3
AlFel T T A1 B |

afg A, B, C fordt st ABC &% 1=afie 101 & ot g9iiey :

) (B+Cj A
Sin = COS—
2 2

THH AABC fSr&e1 B @91 8, afg AB=5 A1, qo £ ACB=30° @l §[<T1 BC T AC
IREISLY

7
Ife sin® + sin20 = 1, 99 cos20 + cos*0 T A I U |

fag =ifSe f T ot i fordt o W a9 T gHerg Y &1 8% 9 9 & U faw
R S T GHETE Y % &Rt T ST e §

o oo >

frefafEd siferel 1 agetsh dA1d hifT |

Tt erqaer| 0-20 | 20-40 | 40 -60
IRIRAT 6 8 12
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Qus-9

U9 WEAT 19 | 28 dek Uk U9 3 31k T B

19.

T AW THIIHRT GN qeNisd foh fopelt &eTeHeh qUiieh o1 1 9m, 9m+1, or 9Im +8 & &I |
BT

g FgIR +° —3x2+x+1 % Yk a—b, aqM a+b T dla A b &k TH I FU |

fet 39S ABC & 9T AB @91 AC ® P 3R Q <1 fag ®1 afc AP=3 4.1, PB=6 .7.
AQ=5 4.1 991 QC =10 V. 1. B @ WEI BC=3PQ.

ferdt AABC ®, AD L BC 39 &R § f& AD2=BD.CD d fag =ifsiw f& AABC &1 %01 A
AR B |

El

S1 WA AABC 9 ADBC %01 BC % U& & 0% ©id T | Ifg AC 791 BD Teh & &l
P forg W wfd=se i @t fiag =4

AP XPC=BP xDP

TS sind + cos® = p TAT sech + cosech = q, M q(p2—1) =2p.
1

IS sin6 + cosh = /2 sin (90 — 0) T tand T A T U |

sin39°

o

= + 2tan11°tan31°tan45°tan59°tan79° — 3(sin2 21°+ sin? 69°) T HM J1d HL |
cos

fog =i fF 3+52 T* mulEg g §

=1 iRl o1 Hfearert 1@ &4 |

A S=A 1-4 4-7
IRIRAT 6 30
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2_
If< sech + tanh = p, IVMEA p2 L = sinf .
p +1

et fafy g gt 1
x—y=1,2x+y=28

3 &9 I BHIIRA HITSIT ST ST @ AT y-318 o 1< § T | 36 & 1 &%a Wl 9
F |

o o

Frfafed siiesl 1 7 50 §, ST SIRE £, T £, I 4 |

1t ST 0-20 |20-40 | 40-60 | 60-80 |80-100| Total
FRERAT 17 f1 32 fa 19 120

1040123 - C1




33. AfC 98TE p(x) =x*— 623 —26x2+138x —35 & YR 23 B Al 3T Y% Jq H |

34. A tand + sin® = m qAq
tanf — sinf = n_@l?ﬁ?{ﬂﬁa

m2—n?= 4J/mn.

g7

1
Wﬁisece:x+4— Ta f9g FA tand +sech=2x a7 _L .

x 2x
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